Informational Report for the September 18, 2012 Board of Trustees Meeting

				New								
	E:		0.4	Emp to		.	Pay	5 5 (Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Chabot College - Co	mmunity Edu	cation										
Brill	Bruce	nmi	Chabot	No	To teach guitar classes to Community Education students	Community Education	Hourly	\$45.00	30	\$1,350.00	0/20/2012	12/21/2012
					To teach Beginning Blues Harmonica to community education	Community	Per	·				
Broida De Leon	David Emerlita	F.	Chabot	No No	To teach Salsa and Ballroom classes to Community Education students	Education Community Education	Student	\$15.60 \$35.00	20	\$312.00 \$560.00	9/29/2012	
Franko	Manuel	M.	Chabot	No	To teach Car Care classes to Community Education students	Community Education	Hourly	\$45.00	4	\$180.00	8/6/2012	12/21/2012
Hawtrey	Nancy	S.	Chabot	No	To teach Water Aerobics to Quest students	Community Education	Hourly	\$45.00	72	\$3,240.00	8/7/2012	12/21/2012
Igwe	Anthony	O.	Chabot	No	To teach soccer classes to Community Education students	Community Education	Per Student	\$37.50	37	\$1,387.50	8/6/2012	9/28/2012
Mota	John	G.	Chabot	Yes	To teach Math to Community Education students	Community Education	Hourly	\$45.00	8.75	\$393.75	8/6/2012	8/31/2012
Sammons	Amber	R.	Chabot	No	To teach volleyball to Community Education students	Community Education	Per Student	\$32.50	33	\$1,072.50	6/19/2012	8/9/2012
Schwarz	Bill	F.	Chabot	No	To teach computer classes to Community Education students	Community Education	Hourly	\$45.00	25	\$1,125.00	8/6/2012	12/21/2012

Informational Report for the September 18, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties		Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To teach One-Stroke Painting to Community	Community						
Small	Melanie	nmi	Chabot	No	Education students	Education	Hourly	\$35.00	8	\$280.00	9/29/2012	12/21/2012
Smeester-Karpeles	Rachelle	M.	Chabot	No	To teach Belly Dancing to Community Education students	Community Education	Per Student	\$31.60	35	\$1,106.00	8/6/2012	12/21/2012
Woergoetter	Rosalie	A.	Chabot	No	To teach Line Dancing to Community Education students	Community Education	Hourly	\$45.00	24	\$1,080.00	8/28/2012	12/21/2012
Chabot College												
Andrade	Deverie	J.	Chabot	No	To provide audio project services for the Performing Arts Center	School of Arts	Hourly	\$23.00	200	\$4,600.00	7/18/2012	12/31/2012
					To film football games as mandated by the California Community College Athletic	Health, Physical Education	Per					
Bell	Robert	K.	Chabot	No	Association	and Athletics	Game	\$200.00	10	\$2,000.00	8/20/2012	12/21/2012
Chou	Betty	nmi	Chabot	No	To provide project services for television station operations	School of the Arts	Hourly	\$16.00	400	\$6,400.00	8/1/2012	12/31/2012
Edwards	Levon	nmi	Chabot	No	To track statistics at football games as mandated by the California Community College Athletic Association	Health, Physical Education and Athletics	Hourly	\$45.00	30 hours	\$1,350.00	8/20/2012	
Forrest	Aaron	M.	Chabot	Yes	To provide lifeguard services for external pool	Physical Education and Athletics	Hourly	\$18.00	50	\$900.00	6/1/2012	5/31/2013

Informational Report for the September 18, 2012 Board of Trustees Meeting

				New								
Last Name	First Name	МІ	Site	Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To provide training and		7,00	, , , , , , , , , , , , , , , , , , ,				
					coordination support for	Social						
Jones-Rasberry	Lois	E.	Chabot	No	the CARI program	Science	Hourly	\$50.00	400	\$20,000.00	7/9/2012	6/30/2013
					To provide mental							
					health services to	Ct d a .a.t						
Panella	Justino	N.M.	Chabot	No	students at the Chabot Health Center	Student Services	Monthly	\$500.00	12/week	\$5,500.00	8/20/2012	6/30/2013
Panella	Justino	IN.IVI.	Chabot	INO	To provide	Services	IVIOTITITY	φ500.00	12/week	φ5,500.00	0/20/2012	0/30/2013
					training/workshops for							
					Foster and Kinship							
					Care Education							
					Program including							
					implementation of							
		_			AB12 program	Social			/	•		
Powell	Yvette	L.	Chabot	No	requirements	Science	Hourly	\$20.00	30/week	\$4,800.00	7/6/2012	8/30/2012
					To provide lifeguard	Physical						
D. I.C.	1		Ob - b - t	NI.	services for external	Education	I I a control	#40.00	50	# 000 00	0/4/0040	E /04 /0040
Rubino	Jesse	nmi	Chabot	No	pool To provide support for	and Athletics	Hourly	\$18.00	50	\$900.00	6/1/2012	5/31/2013
					the Disabled Student	Disabled						
					Programs and Services	Students						
					and provide	Programs						
Schwer	Katherine	L.	Chabot	No	accommodations	and Services	Hourly	\$20.00	25/week	\$24,000.00	7/1/2012	6/30/2013
Las Positas College	- Community	Educ	ation									
					To teach language							
					instruction to							
0		_	Las Dasii	V	Community Education	Community	Lincont	# 00.00	400	#0.000.00	7/4/0040	0/00/0040
Conza-Roman	Juana	R.	Las Positas	Yes	students	Education	Hourly	\$30.00	100	\$3,000.00	7/1/2012	6/30/2013
					To provide skills							
Ch a ela	Chris	:	Lee Desites	Vaa	coordination for the	Community	l louwh.	# 05.00	20	Ф 7 ЕО ОО	0/00/0040	0/20/2042
Eberle	Chris	nmi	Las Positas	Yes	Paramedic Program	Education	Hourly	\$25.00	30	\$750.00	8/20/2012	6/30/2013

Informational Report for the September 18, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District		Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide skills coordination for the	Community						
Hogue	Terry	nmi	Las Positas	Yes	Paramedic Program	Education	Hourly	\$25.00	32	\$800.00	8/20/2012	6/30/2013
	T		Las Das'tas	V	To provide training for	Community	LI.	#75.00	20	#0.000.00	0/00/0040	0/00/0040
Hogue	Terry	nmi	Las Positas	Yes	the Paramedic Program	Education	Hourly	\$75.00	80	\$6,000.00	8/20/2012	6/30/2013
Hogue	Terry	nmi	Las Positas	Yes	To provide lab coordination for the Paramedic Program	Community Education	Hourly	\$50.00	80	\$4,000.00	8/20/2012	6/30/2013
Holback	Abby	nmi	Las Positas	Yes	To provide skills coordination for the Paramedic Program	Community Education	Hourly	\$25.00	30	\$750.00	8/20/2012	6/30/2013
TODACK	Abby	111111	Las i Ositas	103	To provide skills	Ladoation	riourly	Ψ20.00	30	Ψ/ 30.00	0/20/2012	0/30/2013
Holback	Richard	nmi	Las Positas	Yes	coordination for the Paramedic Program	Community Education	Hourly	\$25.00	30	\$750.00	8/20/2012	6/30/2013
Kutil	Craig	A.	Las Positas	No	To teach wellness and activity classes (H216) to Community Education students	Community Education	Per Student	\$80.00	n/a	n/a	7/1/2012	6/30/2013
Ligon	Jack		Las Positas	No	To teach photography and computer classes to Community Education students	Community Education	Hourly	\$40.00	200	\$8,000.00	7/1/2012	6/30/2013
					To provide skills coordination for the	Community		·		. ,		0.00,20.0
Mclendon	Wendy	nmi	Las Positas	Yes	Paramedic Program	Education	Hourly	\$25.00	60	\$1,500.00	8/20/2012	6/30/2013
Moorehead	Jane	nmi	Las Positas	Yes	To provide skills coordination for the Paramedic Program	Community Education	Hourly	\$25.00	16	\$400.00	8/20/2012	6/30/2013

Informational Report for the September 18, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Moorehead	Jane	nmi	Las Positas	Yes	To provide lab coordination for the Paramedic Program	Community Education	Hourly	\$50.00	8	\$400.00	8/20/2012	6/30/2013
Moorehead	Jane	nmi	Las Positas	Yes	To provide training for the Paramedic Program	Community Education	Hourly	\$75.00	8	\$600.00	8/20/2012	6/30/2013
Sapsford	Paul	nmi	Las Positas	No	To teach soccer clinics to Community Education students	Community Education	Hourly	\$40.00	300	\$12,000.00	7/1/2012	6/30/2013
Voelker	Kathy	nmi	Las Positas	Yes	To provide skills coordination for the Paramedic Program	Community Education	Hourly	\$25.00	16	\$400.00	8/20/2012	6/30/2013
Voelker	Kathy	nmi	Las Positas	Yes	To provide training for the Paramedic Program	Community Education	Hourly	\$75.00	8	\$600.00	8/20/2012	6/30/2013
Voelker	Kathy	nmi	Las Positas	Yes	To provide lab coordination for the Paramedic Program	Community Education	Hourly	\$50.00	8	\$400.00	8/20/2012	6/30/2013
Wada	Dave	nmi	Las Positas	Yes	To provide lab coordination for the Paramedic Program	Community Education	Hourly	\$50.00	16	\$800.00	8/20/2012	6/30/2013
Wada	Dave	nmi	Las Positas	Yes	To provide skills coordination for the Paramedic Program	Community Education	Hourly	\$25.00	32	\$800.00	8/20/2012	6/30/2013
Wada	Dave	nmi	Las Positas	Yes	To provide training for the Paramedic Program	Community Education	Hourly	\$75.00	16	\$1,200.00	8/20/2012	6/30/2013
Wong	Sebastian	nmi	Las Positas	Yes	To provide lab coordination for the Paramedic Program	Community Education	Hourly	\$50.00	45	\$2,250.00	8/20/2012	6/30/2013

Informational Report for the September 18, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide skills							
					coordination for the	Community		207.00		*	0/00/00/0	0/00/00/0
Wong	Sebastian	nmi	Las Positas	Yes	Paramedic Program To provide	Education	Hourly	\$25.00	24	\$600.00	8/20/2012	6/30/2013
					training/instruction and							
					program coordination							
					for the Paramedic	Community						
Wong	Sebastian	nmi	Las Positas	Yes	Program	Education	Hourly	\$75.00	349	\$26,175.00	8/20/2012	6/30/2013
					To provide lab							
					coordination for the	Community						
Young	Robert	nmi	Las Positas	Yes	Paramedic Program	Education	Hourly	\$50.00	40	\$2,000.00	8/20/2012	6/30/2013
					To provide							
					training/instruction, clinical rotation and							
					program coordination							
					for the Paramedic	Community						
Young	Robert	nmi	Las Positas	Yes	Program	Education	Hourly	\$75.00	192	\$14,400.00	8/20/2012	6/30/2013
Las Positas College												
					To provide supervision							
					for marriage and family	Ctudont						
Gioia	Lisa	G.	Las Positas	No	therapist internship program	Student Services	Hourly	\$75.00	2/week	\$6,300.00	8/20/2012	6/30/2013
Gloia	Lisa	0.	Las i Ositas	INO	program	Disabled	libully	Ψ13.00	2/Week	ψ0,300.00	0/20/2012	0/30/2013
					To provide sign	Student						
					language interpretation	Programs						
Grigsby	Elizabeth	M.A.	Las Positas	No	services	and Services	Hourly	\$50.00	300	\$15,000.00	8/20/2012	6/30/2013
						Disabled						
					To provide sign	Student						
Crigoby	Gabrielle	K.	Las Positas	No	language interpretation services	Programs and Services	Hourly	\$50.00	300	\$15,000.00	8/20/2012	6/30/2013
Grigsby	Gabilelle	rx.	Las Fusilds	INU	2C1 A1CG2	and Services	Liburry	φ50.00	300	φ15,000.00	0/20/2012	0/30/2013

Informational Report for the September 18, 2012 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
			TO TO			Disabled	1.760	i uy ituo		7	209. 200	
					To provide sign	Student						
					language interpretation	Programs						
Maxwell	Janet	A.	Las Positas	Yes	services	and Services	Hourly	\$65.00	300	\$19,500.00	8/20/2012	6/30/2013
						Disabled						
					To provide classroom	Students,						
0	Cucan	C.	Las Positas	No	assistance to learning disabled students	Programs and Services	l louwh.	\$17.00	12/week	\$3,672.00	8/20/2012	40/04/0040
Owen	Susan	C.	Las Positas	INO		and Services	Hourly	\$17.00	12/week	Φ3,072.00	0/20/2012	12/31/2012
					To provide mental	Ot al a ast						
Schulz	Nancy	nmi	Las Positas	No	health counseling in the Health Center	Services	Hourly	\$21.00	24/week	\$21,168.00	8/20/2012	6/30/2013
SCHUIZ	ivalicy	111111	Las Pusitas	NO	To conduct workshops	Foster and	Поипу	φ21.00	24/Week	φ21,100.00	0/20/2012	0/30/2013
					for parents and	Kinship Care						
Trogdon	Pamela	C.	Las Positas	No	caregivers	Education	Hourly	\$50.00	300	\$15,000.00	7/1/2012	6/30/2013
					To provide contract			700100		¥ 10,000		0,00,00
					services including fiscal							
					management, staff							
					supervision, Alameda							
					County Workforce							
					Investment Act							
\	D - (I		Las Dasitas	NI.	coordination, and case	Tri-Valley	NA (I. I	ΦE 500 00	00/	#07 F00 00	0/7/0040	40/04/0040
Valle	Rafael	A.	Las Positas	No	management	One Stop	Monthly	\$5,500.00	32/week	\$27,500.00	8/7/2012	12/31/2012
					To provide sign	Students,						
Walters	Elizabeth	E.	Las Positas	No	language interpretation services	Programs and Services	Hourly	\$50.00	200	\$15,000.00	8/20/2012	6/30/2013
waiters	Elizabetti	Е.	Las Positas	INO	Services	and Services	поину	φ30.00	300	\$15,000.00	0/20/2012	0/30/2013
District Services												
					To provide emotional							
					and practical support to							
					parents new to the							
					Solano County Child	Contract						
Guerra	Blanca	nmi	District	Yes	Welfare System	Education	Hourly	\$12.00	850	\$10,200.00	8/20/2012	12/31/2012